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- XI
ME ALLOWED: 3 HOURS
General Instructions MAXIMUM MARKS: 70
Read the followin | |
£ 1nstruction
d s carefully and follow them
(1)
(111)
(1v)
(V)
(v1)
(vii)

(.viii) There 1s no overall choice.
(1x)  Use of calculator is NOT allowed.

SECTION A

Q1 The number of moles present in 6 gm of carbon is: 1
(a) 2 (b) 0.5 (c) 1.0 (d) 5

Q2 Downward in a group, electropositive character of elements
. (a) Increases (b) decreases (c) remains same (d) none of these

Q3 If500 mL ofa SM solution is diluted to 1500 rnL,. what will be the molarity of the solution

obtained?
(a)1.5M (b) 1.66 M (c) 0.017 M (d) 1.5 M

Q4  Which of the following molecules has maximum bond angle
(a) NH3 (b) CH4 (c) H20 (d) CO2

Q5 The principal quantum number of an

(a) size of the orbital
(c) orbital angular momentum

hape of NH3 molecule 1S |
e | (b) Square pyramid () Tetrahedral (d) Pyramidal
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Q7 13 ghell will be s

. p & . - ! ]
Total number of orbitals associated with |

d) 3
(a) 2 (b) 4 (¢)9 (d)

Q 8 The oxidation state of Fe in Fe304 is (d)+2,+3
(a) +2 (b) + 3 (¢c) 8/3

. ' oxidati . e .
Q9 Which of the following processes does not involve el:,h)elr—l eating Mercuric %xlm 7inc sulphide
(a) Formation of slaked lime from quick lime ( 0

its OXi tion O
(¢) Formation of Calcium Chloride from its oxide (d) Forma

Q 10 The oxidation number of Cl in Cl,0» is
(a) +7 (b) +5 (c) +3 (d) =7

Q 11 lonic radii vary as
(a) inverse proportion to the effectjve nuclear charge.

(b) inverse proportion to the square of effective nuclear charge.
(¢) direct proportion to the screening effect.
(d) direct proportion to the square of screening effect.

Q 12 Which among the following is
trajectories of the electrons?
(a) Pauli’s exclusion principle.
(c) Hund’s rule of maximum multiplicity.

. ' aths or
responsible for ruling out the existence of definité p

(b) Heisenberg’s uncertainty principle.
(d) Aufbau principle.

a) Assertion and reason both are correct Statements and reason is correct explanation for
assertion. '

b) Assertion and reason both gre correct statements but reason is not correct explanation for
assertion. |

Q14 Assertion (A): Though the central atom of both NH3 and H,0 molecules are sp3 hybridised,
yet H-N-H bond angle is greater than that of H—-O-H.
Rgason (R): This is because nitrogen atom has one lone pair and oxygen atom has two lone
pairs.

a) Assertion and reason bot} are correct statements and reason is correct explanation for
assertion.
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a) Asserti ’
aﬁserjfrtzon and reason both are correct Statements and reason is correct explanalm”fo”
on.

b) 4 Ssjertzon and reason both are correct statements by reason is not correc! eXp/anatioﬂfO"
assertion.

c) Assertion is correct statement but reason is wrong statement.
d) Assertion is wrong statement but reason is correct Statement

Q 16 Assertion (A): In HF, the oxidation state of 'F' s —1
Reason (R): 'F' being most electronegative, will have -1 oxidation in its compound.

a) Assertion and reason both are correct statements and reason is correct explanation for

assertion.
b) Assertion and reason both are correct statements but reason is not correct explanation for

assertion,
c) Assertion is correct statement but reason is wrong statement

d) Assertion is wrong statement but reason is correct statement.

SECTION B

Q17 The energy of photon is 3 x10° joules. What is the wavelength of the radiation incident?

Q 18 a) The radius of Na' cation is less than that of Na atom. Give reason. 2
b) How does the electron negativity vary from left to right in a period? Explain with a suitable
example.
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Q 19 Draw the resonating structure of the following: CO3*, O;
OR

Q19 Draw Lewis structure of the following molecules: HaS, CHa.

Q20 If4 gof NaOH dissolves in 36 g of H>0, calculate the mole fraction of each component in the 2

solution.

Q21 What is the order of the first ionization enthalpies of Na, Mg, Al and 51 and why?

SECTION C

s treated with HCI. What would be the weight of CO, liberated after the ~2+1

Q22 a)l00gof CaCO;3 1 -
letion of the reaction: | - .
g??tzte the concept of limiting agent. Explain by citing an example.

d1 diz1 1+2
3 What is disproportion reaction? ldentify the substance oxidized, reduced, oxidizing agent and
2 at 18 ni cin
et reducing agent for the following reactions.
' 0,(]) — Na(g) +4H>
(a) 3N2Ha(g) + 2H: 2(1) T bs0ue)* e
3

(b) Pb(s) + PbO2(s) + 2H2804(2

; Fe & 1Fs "
e hybridisation, geometry & f PCl3, Xel's

shape 0

Q 24 Explain detail th
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| ' ave
a) Yellow light emitted from a sodium lamp has a W

Q 25 frequency and wave number of yellow light. als with following

b) Using s, p and d notations, describe the orbi o3
iyn=1,1=0 (if) n =4  wer than that Of

. A Bust lanivat nthal YOfSO,
Q26 How would you explain the fact that first 10111§at1911 e haI; at of MAg

magnesium but its second ionization enthalpy

Q 27 Calculate the oxidation number of the :
BH3, $;03%, SiHa, BF3, C,04* , BrOs«

Q 28 Describe the postulates of valence bond thegny of covalen e
example of hydrogen. What is the hybridisation & shape of SFsand NH3

SECTION D

Q29 Read the passage and answer the following questions: | i numbers
- In the modem periodic table, elements are arranged in order of increasing af A S eceiving
which is related to the electronic configuration. Depending upon the type 01 Of

: : : by . kS, ViZ,
the last electron, the elements in the periodic table have been divided into four blo.c ére
s.p,d and f The modem periodic table consists of 7 periods and 13 groups. Properties

periodic function of their atomic number.
a) Give the IUPAC name and the symbol of an element with Z=105

b) Predict the period, group & block of element with Z= 28.
¢) The element with atomic number 17, 35, 53 ar¢ all belong to which family.

d) Write electronic configuration of Cr [£= 24].

Q 30 Read the passage and answer the following questions:
The attractive force which holds the two atoms together is called a chemical bond. A covalent

bond is formed by an equal sharing of electrons. A coordinate bond is formed by unequal
sharing of electrons. An ionic bond is formed by the transfer of electrons from one atom to
another. Octet rule, although very useful but is not universally applicable. Bond order 1s the
number of bonds between atoms in a molecule. The polarity of a covalent bond depends upon
the difference in electronegativity.

a) Identify the bond order in: Oxygen molecule & Methane

b) What is the bond length & bond angle?

c) On which factors Covalent bond formation depends?
d) What is Octet rule?

SECTION E

Q31 a) An organic compound on analysis gave the following percentage composition; C=40%

H=6.67% and the rest is ox
, ygen. The mol
i it 3 iokiculis e fla Farie 5 I:;(L)lila;rdmass of the compound was found to be 90.
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Q32 The work funes ‘
70 r ¢ . .. ‘ : - -
g .)1\\ function for cestum atom 18 1.9 ?V. Calculate (a) the threshold wavelength and (b) g
NC threshold frequency ot the radiation. It the cesium element is irradiated with a wavelength
500 nm. calculate the kinetic energy and the velocity of the ejected photoelectron. (lev=1.0X

‘0-\93)

Q 33 Balance ANY TWO equations by ANY METHOD:
a) Cr(s) + ClOs (aq) — Cr(OH)s + Cl0; (Basic medium)

b) H20:2+ MnOs — MnO,t+ O (Basic medium)
c) Cla— ClO5 +Cl (Acidic medium)



